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CHANGE

Figure 1 should show cartridge being removed, not

inserted.

Line 8, delete SPACE BAR
Line 9, delete =

Line 11, change *.9=325 to CLX 325=.9%*

In first Stack Display column, change the Y across

from 20 SPACE BAR to X.

Under "Natural Logarithm Function," move 10 one

line up.

Under the X Display, change 35.00 to 35 and 492.15656

to 492.15659

***Needs technical correction, both examples give

the same results.
Move 4.3 SHIFT up one line

Under the X Display column, delete 11.267538 and move
10.851547 up one line.

Line 6 should read: The X register should display
-4.6723534

Delete Y 9.3956574 at bottom of page
In the second paragraph, change PVDRD to PVORD

At bottom of page, move asterisk (*) up one space.

Change X on second line from bottom to Y.
Change 12 in Stack Display column to 12.00

In the first line in the first Stack Display, change
12.00 to 12

Change 9.2555 to 9.255 in both the first and second
line of the second Stack Display

Under Comments opposite 1.096968, add 2.688E + 43
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In the second Stack Display column, change 100000 to
100000.00

014 Contents column should read:
2

)
)
STP

etc.

In 0ld Contents the STP across from the first 0096
should be RETURN

Put a space between the lines 145 SPACE BAR and LIST
SPACE BAR

Change last item in program from ON to STP

***Needs technical correction, the second program

doesn't work.
At bottom of page, change DELETE TO DEL

Change program from line 0126 to 0167 as follows:
0126 PAUSE

0127 XLT
0128 3

0136 146
0144 RETURN
0145 STP
0146 85
0154 STO
0155 1

0163 POPC
0l64 RETURN
0165 STP
0166 STP
0167 STP

***Needs technical correction, the program gives

an incorrect result.
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156 Under the X Display, near the bottom of the page, change
53 to 3



